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code generation

213l partial evaluation

® |isp, MetaML, C++ Macro, ...
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Var x,y, f

Expre:=1i|x | Ax.e| ee | box e | unbox e | run e
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box 0 — Ap.0

Rune Lambda= beta reduction A|ZILC}.
run box 0 — (Ap.0) (+)
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Enriching the Lambda Calculus
with Contexts (ICFP 1996)

A Typed Context Calculus (TCS 2001)
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Lemma 1 (Progress). If e; =5 eq, €1 l> f1, and es l> fo then

mn
€1 —= €2
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Ty — Th) = Az p.(ex™) (rUp”) (new x, p) 1 :
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Theorem 2 (Simulation). If ey L fi1,e1 — €9, €9 € Va]ueo, a

Inject(r,r -x:T), L
11 ( 7 )’ ) If eq l> f1 and there does not exists es € Value such that eq -
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